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QUESTION 1

An administrator is planning maintenance for a cluster with the following configuration:
1.

DRS is fully automated

2.

Dedicated 10GbE vMotion network

3.

iISCSI storage with CHAP

When a host is placed into maintenance mode, what is the maximum number of supported concurrent vMotion
operations?

A 4
B.6
C.8
D. 10

Correct Answer: C

QUESTION 2

An administrator suspects poor VM performance. The administrator runs esxtop and sees the following output from the
CPU and memory screens:

6:48:19pm up 4:22, 528 worlds, 8 VMs, 16 vCPUs, CPU load average: 0.26, 0.36, 0.16 VMKMEM/MB: 8151 managed:
407 minfree, 3055 rsvd, 5095 ursvd, high state

What can the administrator conclude from this output?
A. The host has too many worlds running.

B. The host is ballooning.

C. The host has adequate memory.

D. The host is under CPU pressure.

Correct Answer: C

Latest 2V0-21.19 Dumps | 2V0-21.19 Practice Test | 2V0-21.19 Braindumps 2/4


https://www.pass2lead.com/2v0-21-19.html
https://www.pass2lead.com/2v0-21-19.html
https://www.pass2lead.com/2v0-21-19.html

P 2L d https://lwww.pass2lead.com/2v0-21-19.html
ass ea 2024 Latest pass2lead 2V0-21.19 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 3

A vSphere administrator attempts to create a VM-VM affinity rule but is unable to locate the option in the vSphere
Client.

What would cause this to happen?

A. vSphere DRS is disabled

B. vSphere DRS is set to manual

C. Admission control is not enabled

D. Affinity rules are only managed using the Host Client

Correct Answer: A

QUESTION 4

A VM is created with a thin provisioned disk.

Which two requirements are needed to inflate the disk? (Choose two.)
A. Right click .vmx and select Inflate

B. Right click .vmdk and select Inflate

C. Reboot the VM

D. Power off the VM

E. Edit the .vmdk file

Correct Answer: BD

Reference: https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.storage.doc/GUIDC371B88F-
C407-4A69-8F3B-FA877D6955F8.html

QUESTION 5

What could cause a high %RDY value?
A. Incompatible network driver

B. memory fully allocated

C. too many vCPUs configured

D. disk latency greater than 2ms

Correct Answer: C
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